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2 a. Dclinc \\,ith terminologics drftercnt \\,ays olreprescntrng Autontata consiclering a1'] cxalnplc.

(08 \larks)
b. Conside r the lollorvurg s-NljA Fig.Q2(b).

USN

C.

3a.

b.

4a.

b.

21CSs1

(07 Marks)
(05 Marks)

(07 )Iarks)
(05 ]larks)

(08 llart<s)

Q3(lr)

i) Compute the e-ClosLrrc o1'each stzrtc ii) Converr the autonration to a DPr\
Explain ir, bricf cornrronly used compiler construction tools.

N{odule-2
\Vritc rcgrilar exprcssion (l{tr) lor the lbllorving Languages.

i) The sctofall strings such that tlrc numberof0's is ODD. I'' 10, I i
ii) Every ODD lengtl, string begrns rvith 1 L I : {0, l}
Conv'efi the follou,ing IrSM into RE using state clirnination technique. I{efer Tablc

9r

Q+

Q:

9t

Table Q3(tr)
Descrihe the languagcs cleuoted by the lbllowing re gular crprcssious :

i) a.(a + b)-.b ii) (a ,'b)* .a . (a -t b)(a r- b)

OR
Write Regular E,xpressiorts for thc lollou,ing Ianguage's:

i) A11 strings oilorvcrcase lcttcrs that contailt thc flve vorvels in otdcr.
ii) All tl.re strings ola's and b's that contain the substring ahb.

Conveft the lbllorving DFA in Fig.Q4(b) to a Rcgular Irxprcssion using Klccne 's

(07 Ilarlis)

({)5 \Iarl<s)

({)8 }larks)
th eorenr.

rig.Qa(b)
Explain with ncat diagran-r intcractions bctu,ccn the

I of 3

(07 NIurhs)

le xrczrl analyzer and thc parse r.(05 N{arlis)

GBG.$ $Gffi.EM.E

F-ifth Senrester B.Fl. Degree Examination, June/July 2024

Automata Theory and Gompiler Design
'l-irne: 3 hrs. Max. Nlarl<s: 100

l\ote: Anyuer on.1, F'll/E.full questiorrs, choosirtg ONE.fitlt question.f|om ench rnodule.

N,[odule- I

I a. Dcfinc the follou,ing tcrminologies rvith appropriate exanrplcs ancl notations:
i) Kleer-rc star ii) Alphabet iii) Language iv) Powe r of arr alphabct (Ott Nlarlis)

b. Design a DFA to accept the language
L..= { * lrv is of evcn lcngth tind bcgins rvith 0l }

c. Explain briefly pl-rascs of a conrpilcr.

a-

F ig.Q2(b)



5a,

I'. -+'l'E'
[']' -+ -'l'E' I c
'[ + [r'1''

T' -+ *F'f ia
F -+ (h,) i id

()lt
6 a. Ilemove ambigr,rity liom the Cratntlrar givcn bclorv:

S -+ aSb

S -+ aaSb

S-+s
b.

C.

7u.

tr.

\{odulc-3
I)csigl Contcxl-frrce (lrat-trnrars (CiF(i) lbr thc ioilou'ilrg langttaucs:

i) L-la'Lrrcl'li:j:kl
ii) 't'he sct g1'all strinss o1'0's ancl 1's u,hcre tltc nltmbcr of (J's is ecy.raLto the nun"rber

o1, l,s. (08 Nlarlis)

Given the Contcxt-F-rce (lratiln-iar be lou';

S+ASle
b.

21C551

(06 Marks)

(t)8 )Iarks)

(0(r \Iarks)
(06 NIarks)

- -'i

A-+aalablbalbb
Give leftnost ancl rightmost derivations ancl parsc tree fbrthe foilowing strings:

i) aaba ii) baarbab iii) aaabbb (06 \'Iarlis)

c. Clonstruct the to1;-dorvn parse tree fbr stling u': id t ici * id by usurg gramm2lr given beiou':

C.onsiclcl thc Context Free Grammar gtr''en bclolv:

S -+ af} lbA
A -+ a laS lbAA
B --; b bS allll

'Ihc string u,: 'aaabbabbba' and f-ind

i) Le li-most cie rivatiol ii) Right-most clerivatiott iii) Parse-trec

Explain tiie role olPtrrser in thc compilcr model.

\'loclule-.1
Dcsign Pl)A to accept thc languagc

L . .l\Vcw't 1tV e {a, b}- }

Writc ID lbr W'- 'bercaLr' (10 Marks)

8a.

Construct bottorn-up parsc tree for the following ir-rpr-rt strings by consrdcring gramrlrtr gii'ctt

below:
H_+E1Tl1'
'f +TxFlF
I':+(lr)lid

Wr .- icl * ici W: - ic'l+ ic1 * id (10 \larks)

OR
L)esign a ND-PDA 1s ;iccept thc langttagc

1 -,, 1 a'"b'' I rn * n, n, m > 0'|

ancl rvritc lD for W - aaabb (10 )'larks)

L,xplain LR - Parsing algorithn-r rn clctail. (I0\Iarl<s)b.

I ()t i



21CS5I

9 it. Desig,'['trrittg Nlachine 1'or the ,rrgffS
L: I a'b i-- 0l

\\'rire ID for string W - "aabb" (l0llarlis)

b. \\'rite a short trote otl thc firllort'itlg t()pics:

i) Rccursivc Languages ii)Universal Turing Machirlcs (l() llrrlis)

OR
l0 a. Construct l)irect Ac,vclic Graph (DAG) and correspondirrg threc aclclress coile lirr the

lo I lclri in g exPl cssiottt :

r) 3+ax(b c)+(b--c)*c1
ii) ((x * l') ((x-1 ) ) * (\ yl))- ((x - y) * (r ,v)) (10llarks)

tr. Write a short nolc on the lolloi'r'rng .

i) Muititape TLrrrng Machine
ii) Non-Detenttinistic Tr-rring Nlachinc (10 Nlarl<s)

3 o1'l
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USN

2a.

b.

1 a.

b
C"

Lisl out ,

scrvices.
Explain TCPi IP protocol sLtitc ol'co1t')ptllcr nct$'ork
protocols used in cach laycr ol thc niodcl.

21CSs2

(()-l l I arlis)

rvith a ncat cliagrant. Also t'epresent thc
(0ll \larks)

What is path loss'/ lrxplain dr1'lcrcnt typcs of li'cqucnc1,'bands in radio tt.attstttissiott n'ith

r'lcccssary diaglatl. (0tl Nlarlis)

Nlodule-2
a. Write tlie steps for conrpr.rting C-l{Cl. trind the coder'vot'd lbr the message hatre ll0t0lllll

ancl generator polynolrial Ci(x) : x] 1- x'l- I using CRC. (08 \lnrks)

b. With a neat ciiagram. dcnronstratc thc rvorking ol'GO-BACK-N protoco[. (08 \larks)

c. Describc pLrre ALOI:IA and slottcd AL-OllA. (0{ \larks)

oR
a. Explain error clctection alld corrcction usillg halnuring coclc'uvith 7 tlatabits anil 4 cltccl< [tits.

(01'l Nlarlis)

tr. IJxplain the working of stop aucl r,vait plolocol for a noisclcss ch?llltcl. (()tl Nl.rrks)

c. With a nca( diagram. cxplain thc working of'CSMA/CD protocol. (0{ Nlarks)

Nlodule-3
a. tr.xplain the rorrtinq proccss rvithin datagranr uet\\/orl( and \,irtLral circuit netu'orir uith a tteat

cliagram. (0ti trlarlis)

b. lrrplain distancc vector roLrting algorithm u'itlt an crantplc. (08 Nlarks)

c. Bring out thc Lcaky Bucket rrcchanisrtr lor tlal'llc policing. (0-l Nlarks)

GBG$ $GHEME

Fifth Semester B.E. Degree Examination, June/July 2024
Computer Networks

Tirne : 3 hrs. l\4ax. Marks: 100

Note: Answer &ny FIVE full questions, choosing ONE full question from eaclt module.

NI odu lc- I
With a neat sketch. explain t$'o tlpes of ri,ide arca network inuse. (04 Nlarks)

Explain the {unctionalitics oIOSI rcfbrcncc nioclcl Iaycrs rvith tteat diagrant. ((}lt \larlis)
[:xplain thc fo llorving:
i) Drrcct scqllcltcc spread spcctrum and fieclr-rency hopprng spread spcctl Llt.n.

ii) F iber optrcs aucl coppcr rt irc. (0tl l\larlis)

OR
6 diff-ercnt tytcs of scrviccs provided uncicr comreclion-oricntcd anri contrcctiott lcss

I of 2



6a.
b.

7a.
b.

C.

2lcs52

ol{
[..xplaut different type s olpacket schctlLrlillg algorithllt Ivith neat diagrams (08 ]Iarks)

\\Iirte thc l)r.lkstra's algor:ithm ancl apply it to the fbllou'ing graph (Rct'er Fig.Q.6(b)) $'ith

sorrrce nodc'Lt'to tlnd shortest path to all othcr nodes'

(()ti NIarks)

c. Describc tr.u,o rnajor ciillcrences bctu'een thc ECN and f{HD method of' congestrorr

avoiclancc. (04 Nlarks)

N'lodule-4
List ancl crplain thc prirnitil,cs tilr a sirnplc llilllsport scrr iec. (0(r \larks)

Explail conncction cstiiblishntcut ltctlvccn servcr and tlte client Lrsing TCP. (0lt Nlarlis)

With gencraI lbrrnat, cxplain thc various trelds o1'UDP arld cxplain horv checkstrtn is

calculatecl. (06 Nlarlis)

OR

a. With a neat cliagram. erplain each Iield o1-TCP headcr'

il. Write a note on Mar-Min thirness'

c. trxplain tlte stclts in rnaking a rclrotc proceclLtre call u'ith a ueat diagratn.

It od u le-5

a. Wltat are the 2 dilfcrcnt architeclulcs r-rscci in tlodcrn trctwork application/ Explain each

architecture with ncat cliagrarr. (()tt N{arks)

tr. h,xplain thc III'T'P rcqltcst I'rressagt- lbrmat in detail. (08 \larks)

c. lrxplain thc usc olcookie in rveb applicittitlrl. (0'1 Nlarks)

oR.
a. Illuslrate the socket comlnLlnication betr',,eetl two processes tl-lat comtl.tullicatc ovcr tltc

internet u,ith a sttitable cliagrarn. (04 Nlarks)

b. With a.cat 6iegrant. crplain how,SN4-l'P calr L;c Lrsccl lbr translllittillg nlails from scttdcr to

reccivcr. (08 Nlarks)

c. L.-xpllin tlie r,arior.rs selvices provicled bv I)NS artcl problctlls associated liith ccntralizccl

clesign.(0lltrtarlrs)

(08 Marks)
(06 Marks)
(06 Marks)

10

I

I- ig.Q.{,(b)

2 of 2
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({)tl Nlarlis)
(()tl trlarlis)
(0.1 \larlis)

(0(r \'larks)
cxanrplc of ir Vrolatioil oJ' thc

(0li i\larlis)

({)6 \larlis)

( I 0 Nlarlis)

( l0 NIarks)

Fifth Semester B.E. Degree [rxamination, June/Jul], 2024
Database Management Systems

Tin'rc: -l hrs Max. Marks: 100

Note: Answe,' any FIVE luV questions, choosing ONE full question from eac'lt module.
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1a.
b.

C.

N'I otl u Ic- I
De fl nc D BM S. [}p la irr nra i n characterist ics o f' clatiibasc iipproach.
[:.xplain ac]r,antagcs o[' l)atabase N4anagenrettt systcnt.

Define data rrodel. Explarn the difl'ercnt typcs of Lrser {l'rendly inlcrlhccs.

\'Iodulc-2
Explain relational nroclel constraints.
Explain c1ifl'erent types of updatc operatiolts ancl show an

referential and entity integrity in each of Lrpdate opcratiott.
Deflne the tollorving rvith exatnple :

(i) Priurary l<ey

(ii) Foreigrr key
(iii) SLrpcr ke1''

(ir,) Ciandidate key,

,,"

b.

3a.
b.

C.

1a.

b.

5a.
b.

OR
Dcfine ilntitv and attributes. Erplain allthe types o1'attl-iLrutes along rvitlt nolations.

(l() NIarks)

E,rplain Carclinality ratios lbr binarr,'relationship and vvrite a trR diagrat.n litr tnovic clatabasc

(minimuur .tr entitie s), (10 \larl<s)

OR
Bricf'1y explaiu thc EI{ to rclational mapping algurithrn rvrth sLrrtablc exantltlc tirr cach slc1'r.

( 1 0 NIarks)

Irxplain fbllou'ing relational algcbra opcrators with exatnpie :

(i) Select
(ii) Project
(iii) Intcrscction
( iv; (lartcsian procluct

NIodu lc-3
Explain inscrt. dclete. upclatc, alter attd rlrop stalctrtcnt in SQl."

Consider the follou,in-e schcrna lbr orclcr dlttal-rase :

SALESMAN (Salesrran Icl. Natnc, (,'ity. Clottrrrtisionl
CIIJSTOMIIR (Curstomer_ld. CLrst natrc. Ciity, Gracic, Salcsnran_ id)
ORDE,I{S (Ord_No, Put'chasc_amt, Ord Datc, Custotttcr icl. Salcsrnatr ici)

Writc SQl- qucrics to,
(i) Itincl thc namc and nurrbers ot'all salcsnran u,'ho hacl rnore tltan tlr.re ctlstolttcr.

(ii) I-ist all the salcsntan aud indicatcs tirosc rvho har"c and clon't halc custottter itr

thcir crties (usc ttnion).
(iii) (lrcatc that vicu {rncls thc saicsnran ri'ho has thc cLtstotrcrs rr'itlt litc higher orclct.

(10 \larli.s)

iot'2

GBG$ $fdHEME



()R.

lu. \\trrtc a note on fbr tbllorving :

(i) Assertion anrl actiott trigecr.
(ir) Vieu,s in SQI-.

b. L-.xplain storcd procctlLtrcs in StlL.
c. Briel'1y explain JDIIC classes.

Nlodulc-4
a. Erplain infbrural gLridelincs io rieternlinc thc cluality

eramplc.
b. [:xpliiin Arnrstrottg inle rencc rLtic.

c. Discr-rss inscrtion anci riclct itttt attamalrcs.

21CS53

( 1 0 \larks)
(05 NIarks)
(05 NIarks)

of rclation schct-t.rc ilcsign u'ith
(Ott NIarks)
(06 Nlrrhs)
(06 NIarks)

ll a.

b.

olL
Deljpc nornlal lbnl. [:xplain 2Ntr, iNF and L]CNF rvith sLrrtablc exanlple, (l0NIarlis)

Clonsidcr 2 sgs of FDs, F and G, F-1A +B.B -(', AC--;Dl ancl

G = {A + Il. B -, C, A -+ I)] Are Ir anii G ecluivalent'?

9a.

b

1{) a.

b.

C.

translation nlu concLu'rent1v.

tirplain why rc'covL'fy neecled altd r\citl propct'tics.

OR
tlriefly discuss Tu,o-phasc lockirrg tccltniques fbr cotlcurrcncy control.

E,xplain n Rl ES recovery alsorithrr with examplc.
Writc a note on Deecllock prevertliot't protocol.

(05 Marks)

Consider set o1'FD's be h : ]e -+ A. D + A,AB + Df , find the minirnal covcr of E.

(05 Nlarks)

Moclulc-5
Whv cot-tct-rrrcltcy control neecicil, Iixplain types olpt-oblents that tttay occLtt'rvhct.t 2 srmplc

(10 \larks)
110 \larl<s)

(0lt NIrrks)
(08 NI arks)
(0,I \larks)

*****
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(10 \{arks)

b1, fbmrLrlatiug "\'trcr.tLtln W'orlil"'l'ov
(10 Marks)

. Givcn llowing graph with initial
" algorithrn.[R 3(a)l

,:.s

Assume : P:0.0412
Gender Reeistered Not Registered Total
Boys 35 i5 50

Girls 25 25 50

Total 60 40 r00

Artificial lntelligence and Machine Learning

O
O
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o
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Time: 3 lrrs. Max. Marks: 100

liote: Answer finy FIVE "fillt questiotts, clrttosittg O^rE Jitll questittn.f rrttrt tttrt'h tttolrtle.

Modulc-l
1 a. De fi,e the terms ' 

-

i) Ar1ificial Intelligence ii) Turing Test iii) Total Turtng Test

Summarize the capabilities required by computer to pass the turing tcst and total turing test.
(10 Marks)

b. Outline the following pl-rases r'vith respect to hisbry of Al:
i) Thc birth of Artificial lntelligencc
ii) Al Winter (10 N{arks)

OR
2 a. lrrplain Sirnplc-Pt'oblem-Solving-Agent rvith an algorithm. z\lso statc thc assr.tmpttons clotrc

in thc proccss of agenl clcsign.

b. illustratc the couponcnt o1- u'cll-dcfincd problcnrs
problem.

3a.

4a.
b.
C.

" tt

Define Machine Lcaming.
cxamplc

Fig"Q3(a) (lo Marks)

Exltlain in dctail thc clillcrcnt typcs ()1'n[tchittc lea|rtirlg Nith
(l() UaIks)

OR
What is dispersion of Data? Explain thc ditlbrcnt lncasurcs of data dispcrsion. (10 Marks)

Explain PCA. Write the PCA algorithm. (05 N{arks)

Consider thc follorving data of ML courst: registration. Thcrc arc 50 boys and 50 girls in the

class. Apply Chi-square test and find out rvhcther any diflbrcnce cxists bctween boys and

girls fbr course t"gitt.

. '1]:i:1. *

.r3- tir:r:

iliii,. I of 3
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Module-3

b.
C.

I)ctnonstrate the steps of Leamin-q System Design'

Diffcrentiatc betwecn lnstancc based lcamitig and moclel-based leaming'

OR

S.No. C]GPA .r\sscsstttcnt Pro.jcct
Submittccl

Result

1 9.) 85 E Pass

l 8 s0 7 Pass

3 B.-5 81 8 Pass

4 6 45 5 Fait

5 6.5 50 4 Fail

6 8.2 12 7 Pass

1 5.8 38 Fail

8 . &.9 91 9 Pass

. (-'lass hc nerl, ins i et (6.1 40 r"rsing KNNirrsti oe (

(10 Marks)
(05 Marks)
(05 Marks)

(05 Marks)

ior constrttcting Rcgrcssion Trces. (05 Marks)

List the diffcrent
!

detail.
Clonsider thc lollo

vaTidation
'?:: :;.

tcchniques of Rcgression rncthods. Expiain any 4 techniques in
(10 Nlarks)

b. c'latasct

Assutning K: 3, algorithm. (10 Marks)

Module-4

lllustrate tlrc structurc of Dccision Trec, ll'ith its aclrrantagcs and disadvantages. (10 Marks)

Dclinc thc tbllowing tcrrns:

i t F.ntropy ii) Lribrrnatiotr gain iii) GINI lndcx
b

8a.
b.

rr,)Prc-p1t-rnrng rr)Post-pt'uttirrg
c. Dcllnc Rcgression Trcc. Wntc thc algorithn"r

he rvill lall sick girren that he participates i1 the toutnanent.

OR
Statc Bayes Theorcu. Definc MAP hypothesis and maximum likelilrood' (06 Marks)

Consiclei a boy rv'ho has a volleyball toumamcnt o11 the next day, but he lcels sick today. lt is

unusual that ticr-c is only a40o/o chancc he would fali sick sincc he is a healthy boy. Now,

find the probability of the boy participating in the toufl1ameflt. The boy is very much

intcrcstcd in volleyball, so thcrlc is 90%oprobabilitythathe wouldparlicipate and 20% that

Gencrate vcrsion space fbr he siven dataset using candidate elimination algorithm

CCiPA lntcractivcucss Practical
Knoivlcdgc

Communication
skill-s

Logical
Thinking

Intercst Job
Offer

>9 Yes Exccllcnt (iooc1 Fast Ycs YES

>o
t8

Ycs (looc'l Cioocl Fast Yes Yes

No (iood (iood F ast No No

>9 Ycs (ioorl Goocl Slou, No Yes

'ol-i

(04 Marks)

5a.

)
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c. Classify the givcn tcst clata using Naive Baycs algorithrn. Appty Laplace con'cclion ilzcro
probab i litl' ploblenr occuls.
l'est datu : IAsscssrlent...Av'erage. Assignment:'Ycs', Pro.ject '' No ancl scntinrtt '' (ioitcl 

]

(iivcn datasct :

S.No. Asscssrnent Assignmcnt Proi cct Scminar Rcsult
I Good Yes., Ycs Good Pass

2 Average {*.Yes No Poor F ail
J Good :ill].,, ii.$g Yes Good Pass

4 Averagc rNo No Poor Fail
5 Average No Ycs Good Pass

6 Good : "' No No Pocrr Pass

7 Average Yes \(sgi]r1, Cood Fail
8 Good Yes 'r.,YeS' Poor Pass

(10 N'larks)

N{oclule-5
9a.

iYt u t"r u lc- tr
lllustratc Mccullocl-r an<1 Pitts NeLrron Mathcnatical nroclcl. \\ririclt llc thu cl illcrunt

(06 Marks)
(10 Marks)

,<*

b.
L.

10

.1

1'$Plain
.i9'

r.***

''{q;*

the differenff$$l-ster

' 
-ar$t'q:J'

*,.-. 9,

,,sL. i' :"F

3 of3

rictivation functions r"tsccl it-t ANN'l
Explain the clillbrcnt typcs ot'ANN.
Explain the architccture of Radial
ulgorithur.

Basis Function n-cural Network (RBFNN) along r'vith
(06 NIarks)

OR

(12, 4) as initial sccd.

Obiccts X Coorclinatc Y Coordinatc
1 2_ 4
1 4 (r

3 6 8

4 ir) 4

5 t2 tl

Differentiate betrvcen clustcring and classification. (0"1 Marks)

Write K-rneans algorithm. Givc the clustcr table after iteration I tbr thc given data using K
nleans algorithm rvith initial value of objects 2 and 5 r.vith the coorclinatc values (4, 6) and
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Fifth Semester B.E. Degree Examination, June/July 2024
Research Methodology and lntell#C,tual Property Rights

Tirre: 3 hrs. ,!, r,jr Max. Marl<s: 100

o

6
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6
e
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Note: lnsrper finy FIVE.full questiotrs, cltoosirtg ONE full question.from eaclt ttror{ule.

i\lodule-l
a. Identify the meaning of Research and brief out the ob-jectives and mottvatiou in Enginecring

Rcscarclt. (lo rlrrrlis)
b. Identify the steps to llnd the "Solve a wofihwhile problem". (10 Nlarks)

OR
Identify thc types of Engineering Research and briefly cxplain thcm. (10 NIarks)

Identify tlre ethical issues related to authorship and brief out them. (10 Nlarks)

Module-2
Identily the essence of new and existing knowledge and explain briel1y. (10 Marks)

Identify how search operators are used to narrow down the search results. (10 Marks)

OR
Identify the impacts of title and keyr,vords on citatron. (10 Marlis)

ldentily acknowledgement and attributions in rcscarch proccss and brielly explain.(10 N'larlis)

Module-3
Define lntellectLral Property (lP). Expiain the major types o1'lP. (10 N{arl<s)

Identify the process of patenting. Briefly explain" (10 Nlarl<s)

OR
Explain briefly the Comrrerciahzation of a patent (10 N'Iarks)

What are the exclusions (product and processes) that cannot be patented'? Explain. (10 NIarhs)

Module-4
Explain the classes or typcs of copyights. (10 l{arks)
What is a Tradenrarkl lixplain the symbols in TM. (10 )llnrks)

3a.
b.

OR
a. What are the advantages "thc regrstratiou o{'a traclemiirk provides lo the proprietor"'.)

" (10 Marl<s)

b. Identify process oITradenmrk registration and explain briefly the classrllcation of TM.
(10 Marks)

Modulc-5
a. Define Industrial design. Briefly explain acts and laws to govem Industrial design.(10 Marks)

b. Identify procedure for registration of Industrial design by taking example of Aple Inc Vs

Samsung Electronics Co. (10 Ntarks)

a. Define Geographical ldentification (GI)?,ll nr,.O, explain acts, lar.vs anci rules pertaining to
Gl (10 Nlarks)

b. Identify IP Organizations in INDIA. Explain schemes anci progratrs 1br IntellectLrai Propcrtv

Rights. * :r
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Qucslion Paper \/crsion : A

Fifth Sem ester B. E,"/l]. -f cch. f)eg ree Ex:r m i n a tio n, .I u n c/.I u I y 2{124

Hnrvi E qlnrnentat $tudE els

Tinrc: I hr..l [\4ax. Marks: 50

INS'l'lLUCTIONS T0 THE Cr\NDIDA'I-ES

l. ;\nswcr all thc Iift.v qLrcstrons. cach qucstiott calr-ics ottc tlrarl<.

2. LJse only lllack ball poinf pcn fbr rvnting ,' clrtri<ettittg tlrc circlcs.

3. lior cach question. altr:r seicctinu 1'orrr:l11s\\'ct', d:rrken tltc apJrrolrriate circlc

corrcsponcling to thc samc tltlcstiolt nuttlhcr on lltc 0lllL shcct.

4. Darl<ening two circlcs titr thc sal.nc qLlL'stion ntakcs tltc attst;t'ct'irtviiiicl.

5. Damaging/ovcrtvriting, using rvltiteners r)n thc 0l\'IR sltects ilre strictly

prohibitcd.

l. In att ecosystent" thc I'lort, of'cttct-g)' is 
-_

a) Bioclirectional b) Cvclic c) Ljnidircctronal d) N'ltrltidircctiotlerl

2. \Vhich ol'the lbllowing is a bititic cotrponent ol'an ecosl's1ctl'.)

a) Fungr b) Solar lrglrt c) "['etlrpet'itturc d) llLrmiditl'

3. Which pyramid is ahvavs Lrpright?

a) Energy b) Flrorlass c) Numbers d) Foocl chrin

4. 'l-hc largest rcse rvoir o {'nitrogctt itt oltr plarlet is.

a)oceals b) ,\tmosplrcrc c) firosplrcrcr d) lrossrl [Lrc1s

5. Abiotrc compotrcnts inclLtcjc.

a) Soil b) 
.l'crnpcrature 

c) \l'atcr d) Allo{'thcsc

6. Printat'vcottsLuttct'is.
a)Herbivores b) Cantivurcs c) Vlacrtt coltslilttcrscl) Ottttiivorcs

7, The word "F.nvironnrcttt" is clcrir,'eei liorr
a)Greel< b) Irrench c) Spanrsh d) F:rrglish

8. lv{ineral is,

a) Organic matter b) NatLrralll rrccLtriittg inorgutic substzrnce

c) Syrtl-resis compound cl) None of thcse
VerA- 1
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9" 'l'he ternr ecosystcnl $,as ilrst proposccl by.

a)Jacob Van Verl<Lrl b) A.C.'l-ransley c) C'ostraza cl) Marrie Gibbs

10. Golcl occtrr in.

a)Sedinrcntar,v Deposits h) Places tlcposits
c) Ily,drothcrrr-ral cleposits ti) Nonc ol-thesc

11. Irluorosis is causecl dttc to.
a) No llLrorrrlc intal'e [r) l-ou' IlLroride lntake

c) l:xccssive tluolrcle irttakc cl)None ol'these

12, llccrcasc oi'oxygctt Ict,cl rtt tl,ater tnainly caLlscs,

a)F lLrorosis b) Dcatll ol'atlLratic lif'e

c) \\1atcr pollLrtion d1 Both ib) and (c)

13" \'l ir.ruiltl lcsoLrrcc ure.

a) I(gpe u'able b.) Non-l{cncw'ablc c) [qLrally distribLrted d; None of these

14. I)clirrestatir)n can.

a) lncrcusc thc rainlltll [) lncrcasc Soil ll:rtility
c) Introtlucc silt irr rivcts d) Nonc ol-thcse

15. l)larrts Lrsc __gas lbr photosvr-rlhesis

a)orYgcn ir) Meihanc c) Nitrogu.n cl) c--arbon dioxide

16. []orcsLs prc\1r:r'rt sttil erosiort b1'binding soilpartrcles in the ir',

r) Stctns b) Iloots c) l-eat'e s d) tiuds

17. nvitrtigcn liring bactcr-ia e rists in o1'plarlts'l
a)l.eal' b) Itoots c) St,-:atrr d) Flower

Iti. \\'trich ol'tiie iblloiving is thc source olground il,'atcr'?

a)Occans b) Springs c) ltivers d) All of these

19. lirc cll'lrrents liom urbait areas conlain.
ii) Orl und grcases b.) I)ctcrgcrlls
c) NLrtrituls d) All ol'thcse

2{r, h'iar inrLrrn clissolvcd o\yp.cn is rcqLttl-cd br',

lr) l'rsh h) lJacteria c) \'cgctablcs d) All ol'these

2t. \\'hrch o1'tlre lbllolvrng is t-tttt a colttpoltclll ol"soil'l
a) N4rrrclal rrattcr [r1 ()tuurrre matter c) Ozorlc ci) Soil air

2J. I).'Ilrttti,rl) rrl \oi:e ts

Ir) l-oLrtl souncl b) lJnrvarrtcd sound c) Constunt souncl d) Sounci ol'high frequency

23. 'l'hc Noisc is mcasureci in,
a) l)ecibe ls l-',) .loLrles c) P['}N4 d) Nl'u

Vcr A-2
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24, Noise pollution can be rninirnizecl by.
a) Urbanization b) Nlaintainine silcncc
c) Reducrng noise at soulcc cl) Nonc ol'tltese

25. Bursting crackers nrainly causcs,
a)Noise pollution b) Plastic polhition c) N{arine pollLrtion d) Nonc o{'tirese

26. Waler pollution can be ntinirrrizccl [rv"

a)Rclcasing sc\\,'age to occan b) Ilelcasine i:lllLrcnt to rvasle land
c) "l rcatrng \\,astc rvalcr" cl) Nonc ol'thcse

27. Cllrlorine can bc uscd to.
a)'l-o kill pathogcnic rniclooleanisrrrs b) I'o rnc:r'casc llrc pll
c) To clcar thc turbiclrty d) AII ot'tlrcsc

28. C-'arbon conlent is higher in.
a)Soil b) Atnrosphcre g) Walcr cl) Living rnattcr

29. [-hc depletion o1'trces rs caLrsin!. accrrrnulation ol- _.__.___
a)NO: b) S[): c) L-O. d) 0:

30. 'l'he aclverse elI'ect of modcrn agricultrrrc is,

a)Wate r pollution b) Soil dcgraiiation c) \\'ater logging d) AII o{'thcse

31. Il I.A is related to,
a)f{esoLrrce consen'ation ir) Irll'icicrrt }:.qurltment process

c) \lraste minirnrzation d) Al1 olthcsc

32. "Eartir Dav" is he lcl evcrv vrar on.

a).lunc ,5'l' [r) Novcrnbcr 23''] rr) ,April 22'"i d; .liinuary 26tl'

33. Wlrich of'the fbllorving is tirc rtrost cnviroumcntal li'icndlv agricultLrre practir:c?
a)t/sing cherrical f'ertrlizcrs b) {lsing rrrsectrcicli:s
c) Organic funring cl) Nonc r.rf'thcsc

34. l-he dicseI veliic]es pollLrte thc environrlental large ll,through.
a)NO- b) tlO c) lrnhLrrnl hvclrocarbons d) Al1 o{'thcsc

35. Which among the lbllor,r,ing is clean firel?
a)Petrol b) t)ioscl c) Lrlcctricrlv d) CN(;

36. Which ilmong the lollor.i,ins is nol a grcenhouse gas.'7

a)N10 tr) CIrC's c) lltrA's d) Nonc olthese

37. '1'hc prrotocolthat reduces greenhouse gas er-nission's are.

a)Kyoto protocol b) Clartage na protocoi g) ivlontreal protocol ci) Vrciina protocol

38. Global Waruring could af'I'cct.
a) Clinratc b) incrcasc jn Sca lcvci
c) lv{elting ol'glacir'rs d)Al] ol'thcsr:

VerA-l
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39. Which o1'thc fbllovi"inrr is I sortrce of'SO: in attl-losphere?

a)Volcirnocs b) 
-l-hcrmal po\\cr plants

c) I I:SOr nuurulitcturitlg d) All olthese

10. Atntosphcric ctxiclatiotr of SO: to SO: is rnl'ltrenced bi'.

a) Sunlrglrt b) HtrnriditY

c)Prescucc ol'hyclrocarbtlrls d) Ali olthese

41. Acrd lilrrrr cl''lccts
a)\,larcriais b) l)lants c) Soil d) All ol'these

42, ( )/,itlr' l;.,i. t i. 1lt't'rt'l1l ill.
Ir) l r'o1;osphr-rre b) Stratosphcrc c ) fvicsosphcr e d) I'he rn,osphere

43. Wlrrcir ol'thc lbliou,ing is the unrt lbl rleasuriLrg tlrc thickrlcss olozone layer'l

a)l)ecibcls b) Dobson Lrnrt e ) Crntinreter d) None of these

41. (llr("s hal'c bec'n Ltseci as,

a)Solrents b) I{cliigerants

c; lllrrrvinu ligents lirt'polvtlrcr loatlts d)All ol'thcse

45. Ozouc holc u't1s llrst ii iscot'e rcd ot'cr,

a) .\rutitr b) Antarcrica c1 
-l'ropicalregion d) Aliica

4{t, I ite tcrtr :tcici rain u'as coitled rn lhc Year',

a) 1952 b) 1852 c) 1652 d) 1152

47. \\lhiclr o1'tltc [bilott,irtg ts nilt a soLll'cc ol'CO: itl thc attrtlsphere'/

r)llirr-riinl ol'lossil lircis b1 l)irolosl'rlihesis

c) \i gli:anii: F.rupriou- tl)Anintal artd plant re spiration and decay

,4t. lrre relLsc irr Aslhnre airacks has bce n lrnkccl to itrull lcvcls o1,

il)ort,a.cn [r) Air-liorne dLrst piirticlcs

c)Nrtrogen d),\ll ol'these

49. Irooci c:hain is divided ittto '-,- basrc categoncs

a) Irout- b)'l'hrce c) I;ive d) Seven

50. At;oLrt .',r o1'llii-r coLtttltl"s coal dcposits are loLttttl itt.

n)Kli;rlttiilil tr) '['amil NadLr c) l(tishnrir d) I]ihar and Orissa.

*+)F:s:l:
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